EARAROBREBRT —5 XN—ZXBISH—F

2024578238 (X)) 9EEiR2H

LR S RBBETF vV A%ZDHh | 3FEDE YSFR3® B
[xE%] 15 :400,000H  23%&:128,000H  3#&:64,000 M  43%&:48,000H 5 3&:40,000H
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. s3 | PELE 1:31.7 1-1-1-1 | 39.4| - 3 | 489 |EEEZ &R
1By 3| UyorO—5— 54.0 ) e | EEER
RiIVHh—0 B:ITSARFIU— HFAVRI YR
<, KEil : -6-4- - JIIHe (&R
2072|g | FvoLaUR— 3| KB 1.(322).1 8-6-4-5 [39.3 2 (4_73 /vazlﬁm( )
RiNZ—ka1—X B:7)¥y70-5 H #<z
- t 3 | BWRF 1:32.3 3-3-3-2 [39.6| — 1 403 | &Rk &R
31812/ =2—o07 * 54.0 ) (-4) EE%E
RiYy9—R/— B:N—hIVITI £ 2
=4S t 3 | BAXE 1:32.3 4-4-5-2 |39.4| - 4 | 382 |MERE (&R
41811 Uao/Svoa i A51.0 ) 6) sSa=_
R:N—EVYIv— &)IJz)bO-)b NV A ARF =TIV
— S 3 | BEXA 1:32.8 7-7-6-6 | 39.5| — 5 | 438 |BEMt &R
5 7| IX= 43 # 54.0 212 “1 EEIﬁJ) J P NEER
R:vad7II5y 8Ly RASYIa e ]
=~ _ _ 8 3 | RITED 1:33.3 2-2-2-4 | 40.8| — 7 408 | SREF E&R
617]10/ 372 —vU-2 5.0 @1 o |EBIFE
RINAVRIATERT WY B:ZAUF v HBEIT7—LA
N =i o ke t 3 | Pt 1:34.0 8-9-8-7 |40.6 | — 6 442 | FhE—th (&R)
] 2 [ A=ILTVAL YR * 54.0 3) () | BOEA
RE-UR By RIVIU =]
8l5|5|/NSRNAR 3| E 1:(3:).8 4-4-89 |4.7| - | 8 523)7 Eﬁﬁé Eﬁ(%iR)
R:AN/UwF— BYIERIAYF F4FPUARIST
9 4| PATYET TR 33 @jgx— 1:(335).4 10-10-10-10| 41.4| — | 10 (4_461) E(%E‘sz?(@;)myay
R:STU—=FA B:FPADF v EERIY R
100111 — -2 4% 3 gﬁ‘_u‘gkim 1(:33/54.)5 6-7-6-8 | 42.3| — 11 (4_315; Jdllgzé% @R)
RN/ UwF— B:FU—YFPAR2 JtE
nis|e| pryea AP g e - e [ A
RPRESTN 8 ITN—Vv—=— RUFRF—T I
» TEFRIHA - - - - - - | &Rz &R
EH g | IFILFv— 3150 ) ) | EExiE
R:ILLALIITVR B:TURA A=y
@ 11— —®BIEfI
13—7+— 3,10,12, (5,11),1,7,(2,9) ,4,6
20—F— 3,10,12, (5,11),9,(1,7) ,2,4,6
30—7— 3,10,12,9,11,(1,7),(2,5) ,4,6
43—F— 3,(11,12),10,9,7,2,1,5,4,6
o ILRE
B B 3 460M4 JA R 3-9 3004 % 3= 3-7 560M4 3EE 3-9-12 510M
7B B 3 110/ 3-12 250/ B 3-7 1,240 3EH 3-9-12 2,930
9 100/ 9-12 210 /B & 3-9 730
12 110 =51 B20) 1,290

ABIC OV TRUTEREERRODDZE. THRIIZEL.




